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o¢l Write down the meaning of following idioms with sentences: 0BX (=30
@) Loaves and fishes (b) Carry the day (C) Crocodile tears (d) Dead of night (e) In
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04l Fill in the blanks with appropriate preposition:
@) Youcanbe....... home. (ii) What are you looking... ......? (iii) He stood......... him.
(iv) He knows English...... .. Bengali. (v) The plane flew low........ the houses. |
o1 Correct the following sentence:
() Hearing the noise I left round (i) They found him going in the garden. (ii) I found
him cry with pain. (iv) A lost opportunity over returns. (v) He kept me wait.
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